=

EAN SECTIONAL AREA METHOD

Uﬁ IL5L"MGL|=G- ‘the. (doZk o4 GamH Y~ of  Ceawosae
fon a Ponkion oy 20k Paem +ha %-o\lcu:‘amaw"
Réad  asidth e Poyprnodion  Suwsdece 1o 8- ™
Sidle Slopes 2:4 In bomking amel 4% :1 in cusving:
\_ezn%“'\" O ahaim ‘s 30 k-
_Civan Dode

CHALN ]
S 'zﬁOZi 22 |23 |24 r25 2¢ |2% |28 |29 |30

Girouns LeveL 7120|7125 70 Gol74 25| 70 50| 704570 20|70 36 63 10/69 4S |¢q 30

FoR- LEVEL |46.0(70:15| 703 '10-&%70‘50 707€ [70°90 7165 [71-20 |7.35 | 7) - 50
‘:ORMATION LEVEL. UPWARD CrRAIDIGNT oF 4 I1# 1200

Yeuh 11w 2¢e?®
A Lenayh 7% Choann = 30 "k . and u.chaJ-.d s

alls «  [Rse o
SO, 260 - | \x 320 3 %5 - 015
3o -01) B ae
T e S

ﬂg.—.‘ _:L_/ \
F.L < S T N
"'?—CI—‘._E.—.JL _ _ _
ST T s = =
) ay 4o S
T As  EramPle From Chainage 24
We gecktiom Posses +through Cuwrting o
; 8
Gomeny: 'ﬁ__—ﬂo,?_ et O‘Nat—:n‘ﬂ'
e 30 -2C \4—;:_._.,‘ 03
s e e PR 12 12
3o-x = 36-1221% le &30

Scanned with CamScanner



OANTITYL —

Gy -

———Cwev—y @ =2 vt g:2 im Banking 5:3% N =
g 2 ! § | § , A
o | 3|8 |5 |8 |g.|3%3 AELIEE
J d > = & doa| 9 +1| 9 £9 | T =0
s | 5385 Y0 F | TR
z %eﬁ‘guf-ug@jdmdu*cggg_ﬂgvﬁg
< ; = © 32 | = -
Sla s s [s]2(0f|28|58 3348
Y| « & ol LR EE: 3 8 ; ) &1
20 ; s 230 | e B 20 |2-1¢ 767 — e | B ”
h____?_-[zo F0:00|—1'20 (960 |2:16 ii?6¢ i I
1
21 |74 25 |FO'IS |-1.40 [%%0 [1-22 |10-62 tii-i‘i 30 ;39-‘1‘
i | | 1
& I
22 | 7090 |F7030 |—0:60 |4-80 P54 |5.34 < #9%8 | 30 jﬁqt’
ol CnE ||
23 |H25 |70°US -0-20 | €40 p-96 |F.36 | 635 | 30 ?qo 5
24 |F0'80 |70-60 020 |4:60]p-06 |1.66 | 451 | 3O 1353
O 0 ) O |0 |0 083 |42 (a9
e Paages 10 m | EuHing | 4o Bamnting
25 |Fous |90 | 0-30 |20 |01¥ | 258 |29 |18 e 232
2¢ |70:20 |70-90 |6-F0 |5.60|6:9% |es% |4-88 |30 | - p3F-Y
2F |70-35 |74:05 |0 70 |5-60 [0'9% |6-s% | 688 | 3O —  HaFy
28 |leq-10[7120 |92:40 |16-%0|8-82(25°6Z |16-i0 | 30 - Hhe3-o
" J
29 |equs [A35 (190 [1520[7-22|22:42 | 2402 | 50 | —  [720°6
30 |62-70 [#-50 |1.80 [H440|6-UB | 2083 [24-65 | 20 uq:5
TE)TA L = CHO <% 2211 ':L
cum en.Mm,

Scanned with CamScanner



Trapsverse slopP o4 CROSS
Hatf -Powmod%cm odidth = b zide slof = g4

Deprn Sy Cadtivny oA

=
: 45b24—9§(2'od red?)
A‘he_ﬂl = /
42 - o

EX—> Coldate e Quam\irYy ot eaathwork ot a il
socd N aide-lend %slot_tmc\.. Con o \emath ox 2°°
5 +o 40 ainage tomgest o T cle
pe O5 grotend cren®) |
raeos

onoin
The e s &oaal s F mMekrs omad 8\efe

\Al felth (5 e \

= . of the soid e ag follocds:
CHAINAGE DISTANCE R-C OF GROUDNVD ;

= e AT _CENTER il ?: FORMATION

P 120 20000 ‘2_1- CENTER
—3 120 19975 04.-20

g 1 60 200:50 20480

204-50 203 €0

Scanned with CamScanner



N )
)

R
As  Given 4o = ©-1 . . 404
Ratrio of 2ide =loPe, HoR:Vertl = 4287
B:?’.'b;;}':-:a_g o= 2 H= |O
R m— W= e h
¢ |Re o . "
‘5?“(} bank- 2 0)2.) [Meﬂfﬂ Ois- | Quoany
& - St A (ebd + Cead* | L
» QQ/\A' Dbk ok [Soer. A;Lea: _—_T{__’s_z_/ =
Q0 RLBFL At PR
¥
1) M
{ 2 - y s o
A
c | 120 |@X355 a0 lexzsaiat 2x1-20)
0'2_ 2'2_ — oA e
I i . 412-00 _
2% 2 ”w
. SX2-0 X2 05D
6 |205 |Rees );;i%fz BRI [yreas| 20 [zeAco
] - = 23-96
o >
(axa &+ 10 (243-SKL-9 4 2x1-90°D
7 190 [~ 102 22 22.%0 20 ('\66'00
- 24-63
- - =
(2435 D+ 10(a43-$x4-30 2% (30 D
2 130 102{_ >z 41F U< 20 |24yQq-c0
= 4326
2 e 2.
LEDL 10 (243'8K 12 4 2120 ) '
9 | 420 S io"..c- 7 4263 |20 [252°¢C
= 42-00
szs‘sq')ir 43'(2-:43-9(2404-_?:5’.'3—75) '
io | 270 |~ $.6% = BE 23.6F |20 |[4F1-40
= 35-43
ToTAL=|{88Z-60
cCu-m.

Scanned with CamScanner



